EARAZROREIERT — 2 N—XBISY —F 2017538258 (4) 11[EIKR4H

mﬁ/ﬁ##%ﬂ A SR —M% EEE R
[A&4£] 1 7% :700,000 @ ~ 2 3#&:140,000 @ ~ 33#&:70,000  ~ 43#&:49,000 ™ 5 3&:21,000 @
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
1 4| Fr7To80-X # 5 | LR 1:(4_6).4 4-4-53 (412 — | 9 | 506 ig%i ¥(7K>R>
RANS WA (=7 Bk v AODLNA-X 10 | mmagis
A EA 2R .46, 67— . = MER= (8F)
o 1|1 rm7as w o | U8 g e fon) = o] @ e
L:yq4 27— BRI RINT LR BRR&t 7+L700—
NN TRREIfE— : —-1-1- — NNPEEAE (B4[E
3lglg|F—FZT> #" o4 6.0 aﬁg L ° :ﬁ gﬁg
LB/ w74 BIYIAXIRTTL R RES S
. = HER : -9-9- — ERE (KR)
4 3| 74— ¥F—07 C 54.0 1(/;?:)7 107994 1407 ° (:?2) EE#IE ’
R:TFa7>4I B:T74—HFaL2 b Rakie]
NN ROB— 146. 01— . — IRBE (KIR)
slgliol va>n—=2v # 4 | MO 1(14/62)8 2-2-1-1 | 41.9 2 (115132) ;c\ﬁgi
LT =TZAhA BN ITLT— A
— 4 [EESES 147, -3-3- . — AT (KR)
N DY "5 [ S IR A P | Emam
X THANAIN B:US7T—Ib biEe ]
S . o o _ 1EEREZ OKR)
1 FIETE % 5 | B 1.(417>.5 6-8-6-8 | 41.6 1 (4_938) RHE
RN=YI51 B:i¥yXZa— J—¥rTr— L
SRS B E : 54— — IREE (KR)
altlg|xv—rLvzor # 5 | EiE 1(;1{:) 5-5-4-6 | 42.2 6 (ig) %\mﬁi 3
Lox4n B:yo7 23— bhb7OY Y b a-KLA
- ~ s | BRE® 48, 070 | 42.4| — IHhEE (KR
9l5l5| XTFF1 b 281 %0 sl A T3 |
LTI RAaxAr B:HIT1A47 J—=HTp—L
\ SSARRRE :51. ~7-10- = 1EEHEZ (KR)
N > PEES A B4 s ez N i O [exme
R:TVHYARI K B:7U2RA aE JiE—
® 1—F—@EBIERL
13=2F= 9,10,6,4,8,(2,7),1,5,3
20—F— 9,10,6,4,8,1,2,7,3,5
Ja=zr= (9,10),6,8,4,7,(1,5),3,2
ASl=5F= (9,10) ,4, (3,6),8,1,7,5,2
[ N5
B 4 12,900 714K 1-4 7,240 e E 1-4 27,8504 3EE 1-4-9 50,810/
B B 4 1,010 4-9 4,530 B E 1-4 28,060M JEE 4-1-9 790,300
1 240 1-9 820M B H 4-1 78,280M
9 350H

ABICOVWTRDTEEERROODE. TR LIV,




